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Mote: Section Tis compuliory. Attempt any two (2) questions from Section IL

Section -1 J¥ ==

-E!rﬁ-!glllinl-ﬂd"' (8) r2e- J.Irul:ry.i _{.dﬂldﬂﬁ tuked

2 - Write short answers to any FIVE (5) quostions,  (2x6w10) -2 ofwiiz Lo (5) 6y &7- 2
e i T ","n.d.{' ' -

1= What is meant by “prafixes™?
ii - Define least count of vernies calliper.
iti - Define physical quantites,
iv - Defing vibratory motion.
v - Define unifarm accelaration,
vi« Dafine force also wrile A8 LN,
vii «  State Newton's fhard laa of motion
vili - Write dawn two advantages of frichion.
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8 - Write short answers to any FIVE (5) questions.  (2x5=10) al';fam,"'.{i el (5) g‘k ljd'r' 4

§ - Dafine centre of mass. ﬂ'.ﬁ.lf,-"'l.!--_.rl...rﬁ
i~ What is the difference betwean stable equiliorium and W A g e A o Ak 'f¢ W'
unsiabe agquilibrum? e #

i« Define fald fonca.

A

v« How the value of *g" varies with atitude? i b o Ad g ad g
ol g he o B0 i
v+ State lew of graviation, Physics-9 GUJ-G1-(P- f':l..-: n::l" T:""J{I
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4 = Write short answers to any FIVE (6) questions. pixels

i1+ Defing density and waits its S1 und,
k- Slote Pascals law.
i1l = ‘WWhat is maant by “deflorming force™?

iv «  Daofing lamperature and wrie &8 51 unil L oy BIE q‘.':r_ll,.-":' Y.

v What s masn by “Internad anergy of @ body®? % il A l.;‘r"'*l.fr" .

vi+ What is meant by uper fixed point and lower fixed point o il M o utig AIA L R
of & thermaometer? fe sir

vil - Dafing condustion of heal,
ikl - Wiribe bwo uses of convection cumants,
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6 = (a) Derived first equation of motion with graph: & ol e 24 Q. S e rﬁ S (L) - b
vi=vi+at vi=vi+at
(b) A stone of mass 100 g is attached to a string 1 m long. Q.&&.Nlh:_\r.»mh ALIZ L ﬂ_\_‘._ 00 ()
The stone is rotating in a circle with a speed of 5 mS™. ......ﬁrw 5 mS™ c“...‘ ¥ A - r.ﬂF_,.r el

Find the tension in the string. L TR e\ ST S e
6 - (a) What is solar energy? How can solar energy be converted & F LT " ISP fe Vg () - g
into useful form? Explain it. ol W SUx
(b) A nut has been tightened by a force of 200 N using s .Hmcc N S A H10eme L (L)
10 cm long spanner. What length of spanner is kod = s c\ 150Nt .« {s %] _\\ =
required to loosen the same nut with 150 N force? e K TS
7= (a) What is meant by "evaporation”. Explain its any Sl = m..,\ Zu Yo iy Ve G#mm__ "() -7 |
three factors. _E 2ol 1
(b) The head of a pin is a square of side 10 mm. 10 mm Mfrm._rmw-m.. W uﬂw\m___..m.ﬁ.. £ ()
Find the pressure on it due to a force of 20 N. Ahinige gt S 20N ;Ui e
N
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9. Inwhich of the folowing state of mater, molecuies LTty b o F w0
do not leave (heir position?
plasma Lok (D) gas 2 () liqud 2 () salid (A

18- ‘Which of the following efecls evaporation?
surface area of liguid ¥ 50 2L (@)

e &0 Motmg e Ly <10
temperature £ (A)

all of these #li_ (D) air Iw (C)
L1+ The formula for conversion of cefsius scale of temparature N far 2 Mok VRS TR
into kel scae @ I v 5
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Haprleir (2) ne §f Lmi e didiie o
Note: Section | is compulsory. Attempt any two (2) questions from Section 11

Section -1 Jil

2 - Write short answers to any FIVE (5) questions,  (2x5=10) e AL oo (5) ég d/- g
L- Define physics. Write down the names of #s two branches. é;ﬁrt L B w J,,rl ool B YIS

ii - Define scientific notation, S B L
iii- Define physical quantities and give two examples. SV I T GUWY YT T
tv - Define velocity and write its equation, .5;}#1'.-4' =y T

v- Differentiate between rotatory motion and vibratory motion 2l I A e o
vi- State Newton's first law of motion. S R e (e W i
vii- Differenliate bebtween rolling and slideng friction .:;‘I‘_-'- E-'l; I ;,-.-"’:-?'-.E'Fd-- - .;,l&':-"..ﬂu - vii

viii=  Define force and write ite 31 wnit ey nwe w7t i
3 = Write short answers to any FIVE (5) questions.  (2x5=10) -i_{;@”ﬁ}’i‘:ﬂ-# (5) érk |1rr- !
1= Define the axis of rotation. = Ay .,-f'—i-._.in'y;' -i
ii- Define cantre of gravity. Where is the centre of gravity Wl iy L0 gl ..g-,r']!&;f..ﬁ;-‘r -1
2! a undorm triangular sheet? T tor L,-a"-.ig:.f"—'r',-'-:' KoL
i = What are artfficial satellites? W Nl ot R

iv - State law of gravitation, ot w?ir Vot v

v = Define flald force, ..:—:_": .glf;__f.,,r.-}.ﬂ_-' <
vi-  Define power. Write ds 51 unit. ey L BLE LN -Eir"-ﬂ-"]dfﬂ'; =uj
vii - Define geothermal energy and elastic potential energy B LSRN B A i

vin - Define “joule®, the unit of energy .igf ..t'fJ *Jrran LA i
4 - Write short answers to any FIVE (5) questions.  (2x5=10) .25, F etz FL ey (5) ﬂ 4 4
1= Writa two teatures of kinetic molecular modal, & ooty U I L -1

i~ State Pascals law & g o Y i
iii - Defing siress and wrile Its unit oyt WAy
v - Whal iz meant by “Internal energy of & body*? T e L = “EA e I..fr"-.f-'" -

v Define istant heat of fusion. e Vs Ly
vi- Differantiate batwean conductor and insulator. A8 A8 M M Ly
vii - Define rate of flow of haat and write its farmula L (P17 AT J.,rjr_r.z,; nf e L i

vild - Differentiate batween land breaze and sea reers ket JF 8 K rf".-ﬁ 1 r‘-'? « Wil
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b - (a) Differentiate between distance and displacement. e Eh 3} Wen £ wsS sl dol (I - B
Also explain it. 4N.m. c... =Ly rmu_

(b) A body has weight 20 N. How much force is required to cm\_\n_h 2mS2 U1 20 Nkl ()

. . . I -2 . . 3 ' y
move it vertically upward with an acceleration of 2 mS™, ﬁuh\rﬁcom&\mw\hu_wﬁl f._\vrw?_ e

_U.Cﬂ.;.

6 - (a) What is the difference between wind energy e O/ VA GASAz o Go ks (L) - g
and geothermal energy? |
(b) A man is pulling a trolley on a horizontal road with a 30 AL Fiz e il 200N Q.th_ ()
force of 200 N making an angle of 30 with the road. Lud S e s 8T8 L Qg ¥
Find the horizontal and vertical components of the force. ;ﬁ ?r\. cﬂﬁoﬁw Sasf sl __.w i
T - (a) What is thermometer? Explain liquid-in-glass thermometer. rﬁ F1 1\... s mr AV 1 e VR i\w () =7
..m”...ﬁh..vﬁh
(b) The heat of a pin is a square of side 10 mm. 10 mm MTLM_ cn.u..mf i &\_\mﬁ Kol oy ()
Find the pressure on it due to a force of 20 N. Uls &5t lpe & QE.“ rﬁmm N iy N:.\ﬁ V-4
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